ATV – 131 (Simplified) for a given Constant V
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        PXT calcs
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  Output

	* HSG uses BOD removal load Q(BOD0 – BODeff)

Paşaköy Data

T 
= 14.9 oC

MLVSS 
= 2407

X = MLSS 
= 5616

(CT 
= 28 d

Q 
= 65 903 m3/d 

In

effl

COD
= 561.83

561.85

-

BOD
= 561.83/2eff
561.81/2

-

TKN0 
= 56.0 – 3.0

56.0

3.0

NH4N
= 48.2 – 3.4

48.2

3.4

NO3N 
= 0 – 8.9

0

8.9




Input Q, X, VT, T, SS0, BOD0, TKNo, NO3o





FT = 1.072T-15





� EMBED Equation.3  ���





� EMBED Equation.3  ���





Input (T, X





� EMBED Equation.3  ���





Quadratic Eqn in terms of SRT


Solve for SRT





� EMBED Equation.3  ���





Derived from definition of SRT = VT/PXT and PXT





f1 = 0.102 FT


f2 = 0.17 FT








� EMBED Equation.3  ���


� EMBED Equation.3  ���





Analytical solution for (CT it is enough to know: T, BOD0, SS0, VT, X given





a = f2L-f1


b = L –f2K


c = -K





� EMBED Equation.3  ���





OUC = 0.56 + 0.15 FT *SRT / (1+0.17 FT *SRT)








POTENTIAL CALC’S





Decreasing nitrification safety factor, increases anoxic volume





� EMBED Equation.3  ���





Input Nitrification Safety Factor SF=1.45





DNpot calc.





� EMBED Equation.3  ���





� EMBED Equation.3  ���





Increasing anoxic volume, increases DN-potential DN-pot should not be increased ... are than DNcap





� EMBED Equation.3  ���





CAPACITY CALC’S





WASN =0.05 BOD0, if (CT < 10d





WASN=0.04 BOD0





DNcap calculations





� EMBED Equation.3  ���





Choose TKNeff





� EMBED Equation.3  ���





Let DNpot = DNcap and solve for NO3Neff


NO3Neff = DNpot /Q – (NN + NO3N0 ) / 1000





Check


If TKNeff + NO3Neff < 10





(Select bigger vol)








� EMBED Equation.3  ���





PXT* = YobsH BODL





X, VT, SRT, VD/VT, NO3Neff
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